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Practice: Log and Exponential Equations R10

 Solve for x in each ofthe following.

1) 3x*5 = 27

KES %
= 3S

xt S = 3

=> Om

3) log,(x+l) +log, x= log, 6

ah Cxer) Cx) = los

Gerl)Cx) = &
xFbLx = be

xt lg =O

(x+b)Ux- 2) =?

Kerb xe eh

2) (3) 27" =

37 = (5°)

—\y = BK<- 3

—~4. = -5
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4) log.(3x+1)+log,(x—-3) =3

los (3x41) Lx-3) = 5

s*= Gre tlx-3)
VSS Bxt-AK+t-d

O= dw-Bx-1v8
Ox (3x+ Uo (x -%)

x= 3 a= ©
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5) e% = 5%" | 6) 2(6)* = 5**1 a

lane” ser Los ( 2 uy") = lon 3 )
“ =

x lane = (x-t)lns loc) - loa” = (x+t) loys

x UF Klas ~ AS log 2 + K bg = x logslogs

arn Ins a -las loge — xlos$ = LoanSlog a
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K => FS, O0AaAb.

“x = Qa. bd
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